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10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of Fifty (50) multiple-choice type of questions.

Each question will carry two marks. All questions of Paper I

will be compulsory.

At the commencement of examination, the question booklet will

be given to the student. In the first 5 minutes, you are requested

to open the booklet and compulsorily examine it as follows :

(2) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

@) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to any other or any other
discrepancy should not be accepted and correct booklet
should be obtained from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given. The
same may please be noted.

(@) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (B) is the correct response.

|_NONO,

Following wrong methods should not be used as they are not
recognised by scanning machine in digitized assessment.
Candidate using such method will be responsible for their loss.

WRONG METHODS

A0 OROO O®00 ®OOD

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.

There is no negative marking for incorrect answers.

10.
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12.
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Paper 1

JUN - 00125/I—B

gyuTeRt I

Time Allowed : 60 Minutes]

[Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT : 1YY U (50) TgeS TR fReidl ST Yok RN |9 (2) O ST

|d wId gredn.

Directions :

Answer Question Nos. 1 to 5
based on either English passage

or Marathi passage:

Despite its extraordinary name
‘ergonomics’ is not just something
which has been dreamed up by
boffins to confuse busy businessmen.
It is a practical science which can
make and is making a valuable
contribution to industry. Research
being carried out in this field can
increase efficiency, improve product
design and make employees more

contented.

Broadly, ergonomics is the study of
the relationship between man and
his working environment. It involves
designing or redesigning machines
and equipments so that due regard

is given to the capabilities and

AT

9 ek 1 9 5 ¥ Je feotean Saramat
IATASAHA Yot IW A ¢

ARTE Wifecd ® Hede AeFHaa
SrforaTe Aifec ot9d. fafddt  emfn
AR A1 = TR § 'R SR, HHS
Stgq, g, wd gysr= gErfes
ATRISY ITATTEASIT hTal FHAT
MRS 9RO, AR 9 qed Alhidd
Aifeca™ o, Hiee 9 gk A

TRERE SIEd Jadrd. aRadret Serd
AT A HE, TU BR qREdd @
AT FAATIA TRl STHA.  IvTCATE!
SOl @ oAU WA ATYR! HEMOR!
e SRR e Sid:aRa =

[=],4[m]
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limitations — physical and
psychological — of the human
beings who have to use or operate
them. It contrast to the more
common, traditional policy of ‘fitting
the man to the machine’ by selecting
and training the best man for each
particular job, the ergonomist
endeavours to fit the machine to the
man-any man.

He accepts people, in fact, as he finds
them with all their quirks and
idiosyncracies, and tries to establish
their capabilities as machine
operators. He then attempts to
allocate to the human operator the
functions each can perform best. His
object is to enable a person of
ordinary abilities to carry out his
tasks safely and efficiently, with a
minimum of instruction.

The ergonomist himself needs a
knowledge of a number of sciences
and techniques in order to carry out
his work.

The object of an ergonomist is ............

(A) To make employees more
contented.

(B) To have a knowledge of a
number of sciences and
techniques

(C) To find people with all their
quirks and idiosyncracies

(D) To enable a person of ordinary
abilities to carry out his tasks
safely and efficiently

JUN - 00125/I—B

et fiee SeE & Sfese w@ren
Aifecd-ATERIGH HE= A B3 Iehd
e

Awfgg rfecar=a AwRT=aT 3H
Al Hoo ATSAT SLTITTIN=AT
gfspaaa o9 o9 foud. wiraarat
U S e 3R 39es, T,
TR S0 GeIgean qohesid et
YA feurEtd 98 § oees ST
YA dgel d=d STHed ST
MISEs §I8 hed odd 3TdEd. &
g e Tie o fafaeargol
Al T Jehedidl Sl
e Shell @ ol SThRbHhel foad. o
Hehlvl STVET N HIfcTehd hIvTCTal
YhRA HEA ThHENT 9 aRaE |
HAAEHE 3T

e WA ThWA WREE ok S
e Hew@™ AMed fegard.

TEId AR TRt Sl {93 Hifged-
LA DIV gfeeh AL Id ?
(A) SEAEU HIUR

(B) HEHHERR

(C) holes HART ISR

(D) FEHHHE HIOM
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What is the more common or
traditional policy ?

(A) Making valuable contribution to
industry

(B) Fitting the man to the machine

(C) Designing and redesigning
machines and equipments

(D) Confusing busy businessmen

What do you understand by
‘boffins’ ?

(A) Employees

(B) Businessmen

(C) Engineers or scientists

(D) Labourers

Ergonomics is the study of ..............

(A) Quirks and idiosyncracies of the
workers

(B) Capabilities and limitations of
human beings

(C) Relationship between man and
his working environment

(D) Research being carried out in
the field of industry

An ergonomist himself needs a
knowledge of ..........cccueenn.

(A) A number of sciences and
techniques

(B) Only one discipline
(C) His own self

(D) His colleagues

JUN - 00125/I—B
AR TRAhIH ShIUTR! TITehe el
gfteshH el 3TEdl A= R
(A) Wﬁaﬁﬂémwaﬁ,aﬁm

(B)WWWwﬁﬁmﬁfr

ST T NES! .

(C) = fafdaoon o9 eraa

(D) qmehm Haﬁ Tl SITe0] o SATE=
g Sfee sma

EALR! Hll‘é(ﬂloql TR Tl H¢||Ci|‘=| Hoo

Tk HIMC FHA ?
(A) sffeTa fefgoamd
(B) 3749 HAERgHH AA0UINd

(C) 3¥®, J«l, yrfits o g
FIVETEUT=AT Hishdd

(D) T ST

TR I STk SNl STIHE ogal hdl

feqaa ?

(A) Faegul  eufagx wA=gr=an
omyA feureld @

(B) TRt TSR
(C) I9eY, 3Tdlfheh o ARA THAA

SYa Aty fegam
(D) 3Td HEA TR o ARaR
TR ATl STER Alehiud dlfecd
BN :

(A) TR e Readant, Fahiv 9
AR e
(B) emfceed e = H-arare four

JBA0IY e R Hifgd

(C) ol HoRgitera freior o
| GEH

(D) TEehTU&T A3 Siefieiehl 3%
A &0 fafeoa @ife
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If communication is defined as
“effective or successful transmission
of a message from the sender to the
other person’, then which of the
following becomes the fundamental
criteria to decide the extent of
effectiveness of the communication ?

(A) Noise level of the medium used
for communication

(B) Generic form of the content of
the communication

(C) Simplicity of the message of the
communication

(D) Meaning and intent as put in
by the sender in communication

Instance 1 : A teacher is giving a
lecture in a class of 10 students.

Instance 2 : A teacher is giving a
lecture in a class of 100 students.

Assuming all the intervening
variables to be the same in both the
instances, which of the following is
the most likely possibility from the
perspective of communication ?

(A) Interactivity of students with
teacher will be higher in
Instance 2 than Instance 1

(B) Interactivity of students with
teacher will be higher in
Instance 1 than Instance 2.

(C) Interactivity of students with
teacher will be the same in both
the instances

(D) Interactivity of students with
teacher remains unaffected

JUN - 00125/I—B

" AT TS SRR g GEAl SAfRIIHd
TEIE TIIT SiTelel et fehan Feratt
YT AT SATEAT HEAl aX SR
T gurEauTe fhen avrEEiay
AU SIS WAt deh! hivrdl fer

A qAYd A ?

(A) FIUAEE AT HIEHTA A
STIYA AT FHI

(B) GRTOTEAT STRTATET TS

(C) TRTIT= TR e

(D) HATOAETIA GeRTE B S
I o1ef

JET 1 : TH ek 10 foeneat=n amiye

A qd 3.

ET 2 : T ek 100 forneat=a anmge

I od 3Ted.

YU ST 3 GRSk aral TEi-
T OREE 3ed o™ T B W
TRATATeAT SR Eeieriehl o
faum waifaes v ® ?

(A) famreaf=t fersrsmidisa gomd

aTferan 9ET 1 UM YT 2
ey Sd 38

(B) fammeaf=it foretswimisa giomd
ralfeman IET 2 T THET 1
e SR 3T

(C) fammeaf=it forerwimiaa &M
AAHAT T2l FEMHE IREE
.

(D) foeneaf=t foraerided=l Tdaefsma
g A-gwifed Ted
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8.

Which criterion produces ‘Intra’,
‘Inter’, ‘Group’ and ‘Mass’ as four

types of communication ?
(A) Effectiveness of communication
(B) Medium used in communication

(C) Number of participants in

communication

(D) Nature of message of

communication

In the context of Indian television,
which of the following did not take

place in the decade of 1980 ?

(A) Separation of Doordarshan (DD)

from Aakashwani (AIR)
(B) Television becomes colour

(C) Rapid spread of television

network across India

(D) Launch of Ramayan,

Mahabharat serials

8.
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h [ UTcH] '\"IOhbllt?'ll 3:{T%TT% q?ﬂ‘?ﬂﬁ
‘EEA S-S AT g
geda ?

(A) GO gerEaen

(B) GO HIEAH

(C) T HEWFTT et

(D) TR T WEy

AR gIrasai sfagrean wevtd
WATAUhT iU TS 1980 =T SR
HSoAl AT ?

(A) 3EIA (DD) § SRRIETOTAYA
(AIR) fawe el

(B) fa=amit dar Tia et
(C) 9RAWR XFE=amt Ses I Toal

(D) THEU, HEIYRd HRE Hifdsh™

TR0 & e
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10.

11.

12.

Which of the following is an incorrect
statement with respect to online
meeting ?

(A) It does not incorporate non-
verbal clues

(B) It does not recognize space

barriers

©

It can become multi-media
communication

(D) It can incorporate various
means of interactivity

In a company, shares of Shanta,
Kanta and Bhranta are in the ratio
3 : 5 : 1. Profit of the company in
a certain year is Rs. 3,33,333/-. How
much is the profit of Kanta in
rupees ?

(A) 1,80,180
(B) 1,85,185
(C) 1,05,105
(D) 1,11,111

A watch at a particular time
indicates that it is Monday 1 pm.
What will be indication in the watch
after completing 101 hours ?

(A) Monday, 1 am

(B) Tuesday, 4 am

(C) Thursday, 5 pm
(D) Friday, 6 pm

10.

11.

12.
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o~

A faferrean Hevla Ereiieiisht Shiow

faum 9 e ?

(A) @mE .35 TR Hehd THAT

(B) d T@r=Al HAR IR H

(C) O Jg-HIeH 9AT && Iehd

(D) @me fafay satferarn @@
H AS R

Teh! HUAHES TIC1, il o i I

3:5:1 1 YHUMG HEUT 3TE. <

SO Ed auida & 3,33,333/-
THRITHE i fee fhdl 02 3R ?

(A) 1,80,180

(B) 1,85,185
(C) 1,05,105
(D) 1,11,111

TH TSdeaMesy Tehl fafiTe desd WHaR,
1 pm TCRT hewet B0 W N TSTBHEE
101 aEHE®R w1 FERE weet s @e ?

(A) 99, 1 am
(B) HeaR, 4 am
(C) TFAR, 5 pm

(D) YHER, 6 pm
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13.

14.

Suppose 5 numbers are selected at

random from the set of numbers

{1, 2, 3, 4, 5, 6, 7, 8}. Then which ofof

the following statements is necessarily

true about the selected numbers ?

(A) At least two of them are even

numbers

(B) There are at most two pairs

having sum of each pair 9.

(C) There is at least one pair having

sum 9.

(D) At most three of them are even

numbers.

A bank is offering following choices
to a customer for interest on fixed
deposits. Which will be the most

beneficial to the customer ?

(A) 10% per annum compounded

yearly

(B) 9% per annum compounded six

monthly

(C) 8% per annum compounded

quarterly

(D) 7% per annum compounded

monthly

13.

14.

JUN - 00125/I—B
e featean g9 {1, 2, 3, 4, 5, 6, 7,7,
8} HIER 5 Tl AGfooh TG
fraceam weatst &iva faum

Aol ¥=amdHeyid 9cd 319

fest ?
(A) IS HHIT U S T 99 AR

(B) N TE&ATIA S-S S Siredl

3TYM sl Adied hi Tk SIS

S 9 3R

(C) ™ TS HHd HHT Teh Siel
3TRM S T T SIS SRSt 9 3

(D) N AT SR SR i ST
Y 2Ted
Wi TEE U e o RSl Shiow

T firess™ Haid S HEeei 3 ?
(A) 10% 9t I9T ftieh Tshdle 5

9% Yt IEiE X TEl HieAreA
THAE dGadid

8% Wt Iuig T A Afg=ren
Thale dgdiq

(B)

(&)

7% Wt a9E g Afear=n Iwae
TS

(D)

i [m]
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15.

16.

In a right-angled triangle, we have
three sides of lengths namely
hypotenuse H cm, base B cm and
height T cm. Then which of the

following ratios is the largest ?

A
B
C
D

Which of the following conclusion/s
is/are valid based on the statements
given below ?

Statement I : All tax payers are
honest.

Statement II : All students are
honest.

Conclusion 1 : Some tax payers are
not honest.

Conclusion 2 : Some students are
tax payers.

Code :

(A) 1 only

(B) 2 only

(C) 1 and 2 both
(D) Neither 1 nor 2

15.

16.
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Th! SIeshA Fenromaed &t H em, 91
B cm & S9 T cm 378, T Gt
FIUG UK Fald AlS 38 7

(A)

(B)

©)

(D)

Tlw Is =lw 3o

Trefiel faemr= YR hreeial Jerarden!

ivrar/d freees 3faa emea ?

faam I : wd gd gmIfoes efea.
fererm 11« wdl foemnedf g a1,
frere 1 : Rl HEE gt AR
Freret 2 @ ! foenel #e@ sTRa.
wE

(A) 1 ek

(B) 2
(C) 1 smfor 2 <=
(D) 1 A1 2 AWk Tehal el

10
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17.

18.

19.

In the ranking of a competitive
examination Vishal was above Vijay
but below Shyam. Mohan was above
Shyam but below Rohan. Vijay was
between Vishal and Ashok. Who is
third from the top ?

(A) Vishal
(B) Mohan
(C) Vijay

(D) Shyam

In a code language if ‘MUMBAT is
coded as LVLCZJ, then how
‘SANGLI will be coded in the same
language ?

(A) RZOFMJ
(B) TZMHKJ
(C) RBMHKJ

(D) RZMFKJ

Ragini facing East walks 10 meter,
then she turns to her left and walks
12 meter. Then she turns to her
right in 45° and walks 15 meter.
Then, how much distance she has
walked from the starting point and
which direction is she facing now ?

(A) 37 meter, North-East
(B) 27 meter, North

(C) 37 meter, East

(D) 22 meter, South-East

17.

18.

19.

JUN - 00125/I—B

T L= wAarmed faema &
forsere 3R TR, W AT Wett 3T,
U B T R W UeTe Telt
3. fas &1 fawma  enfor ewieR=n
T AR R T&A a9 HI0 Y ?

(A) foreme
(B) e
C) fos=
(D) I

TRl Hichfder 9d S8 ‘MUMBALD =
B LVLCZJ 3 8. W &= 9o
‘SANGLI’ ¥ &9 % 38A ?

(A) RZOFMJ

(B) TZMHKJ

(C) RBMHKJ

(D) RZMFKJ

TR Jefhe die & 10 HieX e, T
T SEthe ded 12 HieX =med, Fat df
ISfeTehS 45° HEH Teg 15 HieX AMeld. T
T GEARITATGT TR ferdt TR =erett STifr
d horen fedien WER S SR ?
(A) 37 ., T

(B) 27 HI., IW

(C) 37 ., v

(D) 22 H., 3WF
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20. Which of the following alternatives
will complete the numerical series
given below ?
11, 14, 25, _ , 133
(A) 75
(B) 52
(C) 39
(D) 123

Directions : Question numbers 21 and 22

are based on the following information :

Out of 20 villages in a certain state,
salesman A visited 14 villages, salesman
B visited 12 villages. None of them

visited 2 villages.

21. How many villages were visited by

both the salesmen ?
(A) 26
(B) 6
C) 4
(D) 8

22. How many villages were visited by

at least one salesman ?
(A) 26
(B) 18
(C) 20
(D) 8

JUN - 00125/I—B

20. Wreftetieh! o Tt faeredt STl
o WA ?
11, 14, 25, _, 133
(A) 75
(B) 52
(C) 39
(D) 123

o : U ®wH 21 S0 22 ¥ @l
Tfeder e o7 :

T fafyTse Toamdial 20 Weaiten 14 Bedi
A o1 fopam 92 foeft, 12 =g B =
fashem 92 feeft. 9 Tred T Sreiueh! SHIoiE
o foeft e

21. Tl wearn R 9 foet ?

(A) 26

(B) 6
© 4
D) 8
fort Brew fFam T fashem 92
feett 2
(A) 26
(B) 18
(C) 20
D) 8

22.

12
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Directions :

Question numbers 23 and 24 are based

on the following information :

Number of working days annually :

JUN - 00125/I—B

3 A2 R LI

I T 23 MU 24 YeId Hifedio]
efa SR :

THYTAA hHTe faaw

Employee 2k
Year A B C D E e A B C D E

2018 280 310 315 315 320 2018 280 310 315 315 320
2019 300 290 310 315 325 2019 300 290 310 315 325
2020 310 300 315 310 320 2020 310 300 315 310 320
2021 315 310 315 310 330 2021 315 310 315 310 330
2022 295 300 300 305 310 2022 295 300 300 305 310

23. Which employee has maximum | 93 ot 2018-2022 TT=H HIUET FHIAE
working days during the years 2018- w1 oo gatg W omd 2
2022 ?
(A) B &) B
(B) C (B) C
(C) D (C) D
(D) E (D) E

24. Which employees have equal

number of total working days during
2018-2022 ?

(A) A and B
(B) C and D
(C) A, B and C
(D) B and D

24.

2018 @ 2022 =T TIHATT HIUTAI
FHAAE ®EE TR Taq q9H

aRd ?
(A) A 3fr B

(B) C =7for D
(C) A, B 3ot C
(D) B 311 D

13

O A0
.
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25.

26.

Birth rates and Death rates per

thousand :
Year | Birth rate [Death rate
1961 90 20
1971 88 18
1981 82 17
1991 78 16
2001 75 14
2011 70 12
2021 60 10

From the above table in which years
do you see the difference between Birth

rate and Death rate the same ?
(A) 2011, 2021
(B) 2001, 2011
(C) 1971, 1981
(D) 1961, 1971

Identify the incorrect pair of file
format and the corresponding file

form :

(A) JPEG - Image file

(B) PPTX — Presentation file
(C) FLV - Video file

(D) WPT - Audio file

25.

26.

JUN - 00125/1—B
SHEY o Hogel Wiaesl

Ll TS Tl
1961 90 20
1971 88 18
1981 82 17
1991 78 16
2001 75 14
2011 70 12
2021 60 10

I HRUaET hIU auiHed el
9 HIIUAA ®IH qrIE HHA
3Meeedl ?

(A) 2011,

2021
(B) 2001, 2011
(C) 1971, 1981
(D) 1961, 1971

TR B 0 TEEe BEd @eg
1 T TeHeTdeh! Shivrdl Siet & 9
e ?

(A) JPEG - fo3 (309) wREd

(B) PPTX — WR{h0N (TEIe¥M) T
(C) FLV - geawia (fefesl) wra
(D) WPT — &=t ®Rd

14
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27.

28.

In the context of information

technology, what is cloud computing ?

A It

is a computing power

measurement unit

(B) It is high end computing power

applied for weather forecasting

(C) It is internet based computing
which provides shared computer
processing and data to digital

devices on demand

(D) It is an international standard

protocol of video file transfers

on World Wide Web.

What is of the

international encoding standard for

the name

use with different languages and
scripts by which each letter, digit or
symbol is assigned a unique numeric
value that applies across different

platform, device or language ?
(A) Multicode

(B) Unicode

(C) Hypercode

(D) Metacode

27.

28.

JUN - 00125/I—B
BN & ?
(A) TIUE &THAT HISUA Tk Theh

(B) BATHTATHT 31STS dd (avgTgTS!
IO AR STIqH S0 &7l

(C) fafery fefSieer Sushzon=1 AMTUITHR
HHETTeh TUE UieRan & faet (220)
ITASR] HEA QU F2HS 3Tenla
Far

(D) e oS dee feafesl hEe g&ii
OIS ATIRUIT AU ST
YA Gehd Tl

HIUTATE]  WTSIT, SUHIOT a1 difas

ILIAE THEHM TG T B T8

T 2181, T 1 faeren TshHenfgdia

T e TR fafay ferdt o arored

Hafed AT Fehash (TAHRISH)

YA Ygdtell kA WU ?

(A) Multicode — HeeIRIE
(B) Unicode — IfTehls
(C) Hypercode — BAWRHIS
(D) Metacode — HehIS
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29.

30.

Which of the following options shows
the correct chronological order of

communication technologies ?

(A) Telegraph, Movie Camera,

Television, Radio

(B) Telegraph, Movie Camera,

Radio, Television

(C) Movie Camera, Telegraph,

Television, Radio

(D) Movie Camera, Radio,

Telegraph, Television

Which of the following is not the

typical feature of Web 2.0

environment ?

(A) Users remain as simply passive

consumers of content

(B) Websites work with other digital

systems, products and devices

(C) Higher interactivity and

collaboration amongst users

(D) User generated content

proliferates

29.

30.

JUN - 00125/1—B
WeAeTieh! ShIOTAT T HATo A=A
I HIAIHA eifaal ?

(A) feroms, safast wa, fesam,
Aesn

(B) 2feurw, =Fafas wau, Wea,
fesait

(C) =reAf=rst saq, e, i<,
fest

(D) =atas waw, fes, faums,
Rfeamit

adg 2.0 GHTLAI
EcATcIUeh! iU AfyTs2d 379d A8l ?

oo

slsicd

RS |

[

1% o

(A) ITYLHd  ATITATE e

IO 3T

(B) da9sey s fefSea =xereen,
ST 9 IYROTHEEd & He
YThard

(C) aTRhcaiqed sifen saifear o
T e A% vRd

(D) I o Sheean e
T FTed

16

[=] 4[]
et



[=] 44 ]

i

JUN - 00125/I—B

31. International Solar Alliance | 31. STAWSE IR ATEN HEATH ...
headquarters is located at : JY AR
(A) Haryana, India (A) =fEm™n, vra
(B) Karnataka, India (B) hHfeeh, YRd
(C) Dubai, UAE (C) T, 943
(D) Colombo, Sri Lanka (D) wicsl, s
32. Which city hosted the United | 32 v vt e T=A1 BAMMH a5
Nations Climate Change TRTES (COP21) ESH $a 2 99
Conference (COP21) where the Paris o A 3 5 a7
Agreement was negotiated and
X # & e el 2
adopted ?
(A) Geneva (A)
(B) New York (B) =pre
(C) Paris (C) U™
(D) Kyoto D) F=
33. Which schedule of the Environment | 33 ugfexwo gremr e (1986) SIvTT
Protection Act, (1986) lists industries 313'{3?1"]'5[?}! s1frar gefeo ﬂﬁ'ﬁ ATTIF
that require mandatory ? N g
environment clearance ?
A) STEEI-1
(A) Schedule-I &)
(B) Schedule-II (B) STgge-1I
(C) Schedule-ITI (C) STHH-III
(D) Schedule-IV D) HATL-IV
17 yH[m]
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34.

35.

36.

37.

How does nutrient pollution affect
marine ecosystem ?

(A) Enhances biodiversity

(B) Promotes coral reef growth
(C) Triggers harmful algal blooms
(D) Improves water quality

Which of the following is the effect
of air pollution on leaves that causes
the killing or collapse of tissues ?

(A) Necrosis

(B) Chlorosis
(C) Abscission
(D) Epinasty

During British period in India Lord
Curzon had organized .................. for
development of Indian Education.

(A) Bombay Educational Committee
(B) Calcutta Educational Meeting
(C) Simla Educational Conference
(D) Delhi Educational Conference

The Sadler Commission was a
Commission set-up to inquire

The conditions and problems of
the University of Calcutta

Problems of all universities in
India

Issues in evaluation of higher
education

©

(D) Issues in curriculum of higher

education

34.

35.

36.

37.

JUN - 00125/I—B
TIhEe TGO AR GRETSER el
o 2B ?
(A) Safafasar ded
(B) YaTeer=al aerd Wieared fHesd
(C) BIMPRe et JoheTel SATISE d1E

BId

(D) AT IO YR
TTCATeTeh! hIoTl JROTH gl FEH0THeS
MR B SAes 3T A5 Bramd Rl
I[AHY T2 BAd ?
(A) Y
(B) ®idsed =™
(C) 9rgrs ol
(D) TeR=A
fafewr wa@mea ada fErarom=a
foehraTEISt e g
hell Bt ?
(A) dfrsl foreror G
(B) etk fRreror S5
(C) Temen foreror wHem
(D) fooett freror wHe

Hrehsiarel fgea wivam oTer g
(A) Faashr faemdrerst feedt eqrfor
Aol

(B) YAl 9d faemdieren Tuen
(C) 3=a fogumdial Jeama |ewia

(D) I=a forgumean AqEeRH Teuld
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38.

39.

40.

In Buddhist educational tradition, in
order to become a ‘Guru’, the person
had to undergo through following

series :
(A) Shishya, Pravin, Pandit

(B) Brahmachari,
Upadhyaya

Pandit,

(C) Shraman, Shravak, Pandit
(D) Shraman, Bhikkhu, Upadhyaya

In Vedic educational tradition the

word ‘Upanishad’ literally means

(A) Learning by heart all mantras
(B) Sitting near Guru to learn
(C) Sub-parts of Vedas

(D) Stories of masters and disciples

According to Jainism education

tradition the first method of learning

(A) Prarthana or prayer

(B) Deshana Shravan or careful

listening of advice

(C) Amnaya or concentrated

reading

(D) Anutprekshya or deep thinking

38.

39.

40.

JUN - 00125/I—B
Sig 1810 R & SIS Tefia
CRIGEIS ICERSIU CCE

(A) fersm, wetor, dfeq
(B) se=m, dfed, suead
(C) &Hul, ek, gfed

(D) #Hu, f9eRg, SurEA™

Sfeer fo1eror W ‘Sufee’ a1 vrearE

.....................

SaTET RTeror WRTER stezaAT=h afgen
TET wevveeneennennnns .
(A) Wi

(B) ST 4@ fehall IUQE hicdsigeish

Tl

(C) = fohal THEEgE® ar=H

(D) =dex foprar wiear feaa

19
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41.

42.

If taught on reflective level of

teaching, the students get

tremendous power for acquisition

(2) Factual information

(it1) Generalized insight

(zii) Problem solving abilities
(A) (@) and (@7)

(B) (i) and (i)

(C) (i2) and (ii7)

D) @), (2) and (@ii)

The session is planned with the aim
to explore a number of ideas related
to solution of a problem without
passing any judgement. For this,

the teacher will use strategy.

(A) Dramatization and role playing
(B) Project
(C) Supervised study

(D) Brainstorming

41.

42.

JUN - 00125/I—B

SR g faaaeial (reflective)

(i) dTEfaes Hifed]

(i) WHEHA Tagst

(ii) e TAReRToT &rHadl

(A) @) =for (D)

B) () =0 (iii)

(C) (@) 3o (Gid)

D) @), Gi) o (i)

VTS FehRAT TOrTId 7 <, TEe
A SRR gatya fafay sean
e BvgTe JH TR T S S

Are. et AraSt
HEAET ST Sl

(A) iRt sfor fierTare
(B) 9y

(C) wdafera s1emg

(D) gfgHeA

20
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43. (i) ‘SWAYAMPRABHA'’is a name | 43. () ‘SWAYAMPRABHA’ ¥ %aifurs
given to a group of DTH Y GG HL0FrErE wafta
channels devoted to telecasting el DTH o= Ser feert
educational content. A S

1) ‘SWAYAM’ AT M
(i) ‘SWAYAM’ provides online @) SW g 00C
FAWTEHH qLed SIMHES JHIOS
MOOC courses with a provision .
U T hiee TR w0
of certificate/credit-transfer.
WIS 3Te.
Related to these statements : . )
71 foumr=n ¥ewd
(A) (i) is correct but (i) is wron
8 (A) () R A TH Gi) TF IR
(B) (i) is wrong but (ii) is correct (B) () 9F 3% WA (i) SR I
(C) Both (1) and (ii) are correct ©) () T Gi) B TR A
(D) Both (i) and (i) are wrong M) () 9 (i) e % aT1ed
44. Summative evaluation is .............. in | 44, WHMRE FERAT oo WEIE
nature. 3.
(A) Judgemental (A) fofaress
(B) Developmental (B) forshrarcren
(C) Diagnostic (C) TR
ERIBIRI R ED
(D) Placemental (D)
21 i [=]



OE:10)

et

45.

46.

47.

CAl stands for ........cccceeveeiieennn. .
(A) Computer Assisted Imitation
(B) Computer Arranged Installation
(C) Computer Arranged Induction
(D) Computer Assisted Instruction

is not a type of

research.

(A) Descriptive research
(B) Exploratory research
(C) Causal research

(D) Subjective research

is the role of simulation

software.
(A) Collecting primary data

(B) Creating virtual models for

experimentation
(C) Conducting surveys

(D) Writing research papers

45.

46.

47.

JUN - 00125/I—B
CAI = st Sreiey
(A) HFgR Afaee sfeeH
(B) g 35S TTTRM

(C) HHR 3Mse semE
(D) HFR NfaRT T"ERH

................

(A) Tafyss €2 Medl Lo
(B) JAMEIS MY Hiee daR 0l
(C) TSIUME AESH  H0

(D) whufrery fafen
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48. e, is a common goal of both | 48 ............... T ghR1UHE  ATfUr
positivistic and post-positivistic TR T T T ST
approaches to research.

(A) To eliminate subjectivity
entirely from the research (A) TEieH UfhamyA sAfRwIe qord:
process FET T

(B) To discover new knowled d A .

. nowledge a%n B) e -

contribute to the understanding
of phenomena. EEREIISEE IRk

(C) To prioritize personal opinions (C) dafags wad arrfor TS
and beliefs over empirical [reAEe favarE T e 20
evidence

(D) To avoid using any form of data (D) W WA SHTTET FFA ST
in the research process AT Tea0l

49. The term “DOI” stands for ............. 49. Srerfores oM emfor HewiErst ‘DOL =
in academic writing and referencing. TR A e IE 3.

(A) Document of interest (A) @R TS

(B) Directory of information (B) Hifedr feferen

(C) Digital object identifier (C) fefSea stfssie STe=RrR
(D) Database of integration (D) STEHE TehTfcHeh T

50. e, term refers to the ethical | 50. Bl e AU heddl, I
obligation of researcher to give fopan SR 971 0TS TN S
credit to the ideas, words or work of framar ey dvaraE ST,
others.

A) OIS
(A) Acknowledgement &)
(B) Plagiarism (B) wfefere =RT
(C) Authorship (C) T
(D) Attribution (D) foagrem
23 i [m]
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